Academic Algebra 1 Name z2oz4 Key ID: 1
\_"/
9.7 Practice B (2024 Versum;,_ B “\“”“JED B Dot Period
sPecial cAsE>s WHEN “
Factor Special Cases: nE
3 — kvsa ‘9$Q

1) 5° = 10%+ 25

\’ZXT‘S )(x-s) '

—————

3) x* =36

« « es€
5) 16x% 4 40x +25

| (x5 (4x-5) |

Factor each completely:

7) 3x? - 9x - 30
~—~ \ 1o
3(x%— 3% 1) 25

YR C -5) |

9) -3x? + 18x + 81

3 A
[-3(x+3)(x-9 )

\ 271

11) —4x% + 32x + 80

_y(x% -gx% -25)

REISSERICEDY

2y 16x2 +24x + 9

}""l)( . 3 5Y'~lx+3 3\

hiz] 122 )

85
Qv

€. ¢ sQ
o552 Y

f(?x-?)(5x+£ll

S
,sq w.a‘)

6) 16x —25

r(q;:§>(4x*illﬂ

STE®A - FaActo oyt GCF ( Remember 1o ment)l Mvh"el"/'\>
STEP 2- F)Nish Fncwz\m ( mosT JucCLUDE Gc@é

8) 2x% - 20x + 42

2 (x -‘0>4+7-3 /\75\

(2 (% -3 )&~ )|

10) -5x* - 45x - 90 ‘
-5(x*4ax+18) Tz
(—5(x+3 )(xxb )|

1§
q
)

E's | -10
Lecle Bnd\ enswe-
a fecter A A




¢ Dower neep™

Solve each equation by factoring.\Po calc checks (check ALL SOLUTIONS) g&‘!
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Solve by completely factoring and check all solutions.
(1st step is to always factor out any GCF- COMMON FACTOR)
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